ABSTRACT

NATIONS CONGLOMERATESAND EMPIRES
TRADE-OFF BETWEEN INCOME AND SOVEREIGNTY

The paper proposes a framework within which to study countries decision to enter into
international binding agreements that limit their economic decision-making power. Increased
income, achievable through greater international integration, comes at the cost of reduced national
policy-makers sovereignty. The policy makers have fewer economic variables they control as many
of them are determined globally. Each country chooses an equilibrium sovereignty-income ratio.
More demacratic countries and those with larger endowments (human and physical capital and
natural resources) will choose less sovereignty per unit of income: the first because population
tends to value income relative to sovereignty more than autocrats, and the second because
endowments cannot be fully used in isolation. Countries with larger domestic markets will select
more sovereignty per unit of income smply because they are less dependent on international
integration. Using the sample of 165 countries for years 1993-94, we find empirical support for the
above relationships. This framework is then used to study the process of tighter integration among
groups of countries: formation of conglomerates which are, for simplicity, assumed to consist of a
large core country, a small rich, and a small poor nation. The conglomerates imply some
sovereignty and income sharing as well as all-around income gain due to free trade and/or
circulation of factors of production. Countries poor relative to the rest of the conglomerate, and
smal, will gain the most from joining. Small rich countries will balance income losses from
redistribution against sovereignty gains (because their sovereignty as fully independent countries
would be even smaller). The position of the core member is more ambiguous: it may gain or lose
both in terms of income and sovereignty. Its decision to stay in the conglomerate or leave will
determine the fate of the conglomerate. Using the same sample, we find support for these
hypotheses as well, except that being poor or rich relative to the rest of the conglomerate does not
seem to matter for the decision to join. This may be due to the fact that none of the conglomerates
(free trade areas) included except the European Union does have redistribution.
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NATIONS, CONGLOMERATES AND EMPIRES:
TRADE-OFF BETWEEN INCOME AND SOVEREIGNTY

Branko Milanovic*

[There are three ways in which countries grow. First, by] "forming a league consisting of
severa republics in which no one of them had preference, authority or rank above the
others; and in which, when other cities were acquired, they made them constituent members
in the same way as the Swiss act in our time, and as in Greece the Acheans and the
Aetolians acted in olden times....The reason why such a republic cannot expand is that its
members are distinct...which makes it difficult for them to consult and to make decisions. It
means that they are less keen on acquiring dominion, for, since many communities share in
that dominion, they do not appreciate further acquisition in the same way as does a single
republic which hopes to enjoy the whole. Furthermore, a league is governed by a council,
which must needs be dower in arriving at any decision....The second method consists in
forming aliances in which you reserve to yourself the headship, the seat in which the
central authority resides, and the right of initiative. This was the method adopted by the
Romans. The third method is to make other states subjects instead of alies, as the Spartans
and the Athenians did...[This method] is quite useless, as can be seen in the case of the two
republics just mentioned. For they came to disaster for the smple reason that they had
acquired a dominion they could not hold. For to undertake the responsibility of governing
citiesby force...isadifficult and tiresome business'.

Niccolo Machiavelli, The Discourses..., Chapter 11.4, pp. 283-6; Pinguins edition.
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1. Infroduction

One of the apparent inconsistencies in the break-up of the multinational states like the
Soviet Union, Czechodovakia, and Yugodavia is that while secessionist republics justified their
decision by claiming that they wanted to increase ("regain”) their sovereignty, the new states strong
desire to join the European Union shows the intention to dissipate the very same newly acquired
sovereignty.” How are the two things to be reconciled? Why would someone go through the ordesl
of secession in order to quickly get rid of the very object that justified the secession? Or was not
sovereignty thereal or the sole goal behind the secessionist drive?

The objective of the paper is to explain this apparent inconsistency. In order to do so, we
start with some general observations on the relationship between income and sovereignty that are
supposed to apply to all countries.

We start by defining "income" and "sovereignty”. "Income” is easy to define: it is GDP per
capita’ "Sovereignty" requires some explanation. One can visuaize sovereignty as varying on a
scale from 0 to 1. Zero would mean that the country can take no decision of its own. This is the
example, relatively rare nowadays, of colonies where all economic decisions are taken by the
metropolis. 1 represents full, unrestricted sovereignty where a country can pursue any policy it
likes. It is not held in check by any international agreements, rules, or interests of other states. It is
the state of full freedom for domestic policy makers. It is important to emphasize that full
sovereignty —not unlike the individua's "full freedom"— is neither a reachable position for most
countries, nor a desirable one (because, as will be argued below, greater sovereignty is often traded
for smaller income). In addition, the world populated by states that would enjoy unrestricted
sovereignty would not be necessarily a good place. But the point of full sovereignty is a useful

*The simultaneity of national bresk-up and international integration has attracted the attention of
economists. Alesing, Perotti and Spolaore (1995) and Alesina and Spolaore (1995) address the issue of
optimal country size as the trade-off between lower cost of public good provision and loss of "preference
homogeneity." Bolton and Roland (1995) regard the decision to secede to result from balance between the
gains from the ability to select an optimal tax rate (closer to the regional, vs. federal, preferences) and costs
dueto loss of freetrade.

®In the rest of the analysis, the term income, unless otherwise specified, will always mean "income per
capita.”



methodological device.

Normally, however, country’s sovereignty in economic decison-making is limited. Thisis
the case for amost al countries in the world. These constraints may take many forms. Most
common congtraints are international agreements through memberships in various organizations.
Others are bilateral arrangements, like voluntary export restraints. But the important point is that
economic sovereignty is normaly limited in a number of key areas. exchange rate policy, trade
policy, labor and banking regulations, accounting practices etc. To give afew examples. Country’s
exchange rate policy will follow the rules stemming from the IMF membership or participation in
regional currency systems, like EMS or CFA. Some countries entirely lack sovereignty over the
exchange rate policy if they use other country’s currency (Panama) or have their own currency
pegged to the DM or the dollar.” In trade policies, rules that GATT and now WTO members must
follow are also limiting factors (agricultural subsidies, intellectua property rights, most favored
nation status etc). Memberships in various organizations further limit national economic
sovereignty: the countries are obliged to permit free trade unions, to ban child or dave labor, to
follow minimum health and safety standards, even to observe limits on working hours.” In banking,
they are constrained through (e.g.) the Basel agreement on capital adequacy ratios, in environmental
matters by international environmental convention. Another recent example is Energy Charter
Treaty signed in December 1994 by some 50 countries. According to Ruud Lubers, "[it] lays down
binding rules on the fair treatment of foreign trade, investment and transit; and clear obligationsin
the field of competition and the environment. It provides for binding international arbitration to
settle disputes between governments and, on investments matters, between governments and

nb

foreign investors.

Members of regional economic organization have, of course, even more stringent

*European single currency is opposed (eg. in the UK and Germany) on the grounds of loss of
sovereignty.

*Wallace (1993, p.375), for example, writes: "Few would have appreciated...on [the UK] entering the
[European] Community that the whole context of domestic legidation on women’s working hours,
conditions, even ages of retirement would be progressively transformed by the spread of Community
jurisdiction." See the recent (November 1996) uproar over the European court decision to limit weekly
working hoursin Britain to 48 (cf. "UK Loses on Work Week: Major Threatens Blockage" in International
Herald Tribune, page 1, November 13, 1996).

®See The Economist, May 27, 1995, p.8.



restrictions on economic decision-making. Membership in the European Union imposes a number
of regtrictions on its members: from limits to state subsidies to exact working hours of retail stores
and common classification of goods. As Krugman (1991, p.19) opines. "Europe's 1992 is not so
much a trade agreement as an agreement to coordinate policies that have historically been regarded
as domestic." By 1999, if a EU country wants to participate in a single-currency area, it would have
to meet targets on inflation, budget deficit, public debt-to-GDP ratio, interest rate and currency
stability. The European Union recently threatened Spain, Portugal and Greece with cuts in funding
unless they reduce their budget deficits.”

The rest of the paper is organized as follows. In Section 2, | derive the equilibrium ratio
between sovereignty and income for a single country. The derivation proceeds by two steps. First, |
derive the trade-off curve between sovereignty and income. It gives al the combinations of
sovereignty and income that a country can theoretically choose. Second, | derive country’s
indifference curve showing what combinations of income and sovereignty are of equal value to a
country. Country’s actual sovereignty and income will then obtain at the point of where the trade-off
curve touches the highest indifference curve. In Section 3, | discuss why different countries may
wish to form conglomerates (i.e. looser or tighter unions), and what it would imply for their choice
of equilibrium sovereignty and income. In Section 4, | discuss the conditions under which such
conglomerates might become unstable. This point leads us thus straight back to the initial question
posed in the opening sentence of the paper. Section 5 lists some implications of the hypothesis
considered here. Section 6 concludes the paper.

"See Reuters, July 10, 1995. Cut in funding is acceptable under the Maastricht treaty provisions.
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Country’s per capita income (y) can be, in a standard fashion, viewed as the outcome of its
physical and human capital stock per capita (k), natural resources per capita (r), and —less often
used— openness of the economy (0).” The idea is that a more open economy alows the country to
enjoy economies of scale, to specialize in the production of goods where it enjoys comparative
advantage, and thus, by better specidization to use more efficiently its capita and natura
resources.” In addition, and sometimes as a substitute to openness, alarge domestic market can have
a similar impact on the efficiency of use of capital. Given the level of openness, a country with a
large domestic market (D) will have an advantage: larger D will enable it to take advantage of
economies of scale. We can thus write:

y= f (kr,0,D)= f [k(0,D),r(o,D)] 1)

where we show that the value of capital and natural resources depends on the openness of
the economy and the size of the domestic market.

Combining for simplicity both types of capital (physica and human) and natural resources
under asingle term endowments or "capital” (k) we obtain:

y= f [k(o,D)] ®)

8See, however, Sachs and Warner (1995). There may be different definitions of openness (e.g. exports
and imports divided by GDP). Following Sachs and Warner (1995, p.22-4), we may define as open an
economy where the five following conditions hold: (1) non-tariff barriers cover less than 40 percent of
trade, (2) average tariff rateis less than 40 percent, (3) black market exchange rate deviates from the officia
by less than 20 percent, (4) country is non-sociaist, (5) thereis no state monopoly on exports.

*Krugman (1991, p.8) writes: "A...gain from regional free trade, which is very important in practice,
comes from the increased size and hence both productive efficiency and competitiveness of oligopolistic
markets subject to economies of scale." Pissarides (1995) arguesthat trade liberalization raises the returnsto
human capital.



where f>0 (positive margina product of “capital"),” k>0 (rising value of capita as
openness increases), and k,>0 (rising value of capital as the domestic market expands).”

Let now sovereignty (S) be defined as a decreasing function of the country’s openness
(equation 3), on the assumption that greater openness, i.e. integration in world economy, requires
that the country give up some of its national policy and lega prerogatives and substitute
international rules to domestic regulations. For example, if a country decides to have full
sovereignty, this means that it must opt out of all (or most of) binding international arrangements.
Its domestic economic policy will indeed be entirely free: it may subsidize domestic produces
freely; conduct any exchange or interest rate policy it likes, impose any level of tariffs or
quantitative barriers;, suppress trade unions; not care about environmenta regulations etc. Every
movement toward greater integration will be, generally, accompanied by some loss of country’s
policy-making, regulatory or lega sovereignty (this point is discussed in more detail below).

s=y(0) ()

where y<O0.

Substituting (3) in (2), we obtain:

y-f [k(y"(9),D]1=0 4)

By total differentiation of (4) with respect toy and s, we obtain

In the rest of the text, "capital" will be written without inverted commas. Unless specified differently,
terms capital and endowments are used interchangeably.

"However, as openness increases, the importance of the domestic market for the value of capital
declines. Thus kpe<O with kp=0 at the maximum openness (0=0ma). IN other words, if a country is fully
open, the size of its domestic market does not matter (vide Hong Kong).



dy= f, ksds

where k<0 is the derivative of the value of "capita"” with respect to s. Then
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We thus establish that the relationship between sovereignty and per capita income is
negative. There is a trade-off between the two: increased sovereignty equals less "openness’ which
in turn implies lower value of "capital” and lower per capitaincome.

The shape of the trade-off curve will depend on the sign of (6)
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which will depend on the signs of f,, and k. (we know the signs of the other two
derivatives). Consider first f,. The margina product of capital will be a decreasing function of s
(see Figure 1, pandl a). k is adso likely to be negative. Figure 1 shows that the value of capital (on
the vertical axis) may be unaffected by some (small) increasesin , after a certain point, however, it
begins to decline fast. The relationship is concave and k. <0. Under this assumption small increases
in s, from the position of full openness, may not matter much, but later movements toward autarky
become more and more expensive in terms of loss of value of capital and income.”” Since in the
absolute valuef, islikely to be the largest term in (6), the relation would most likely be negative.

“This scenario is also consistent with a view that movements away from a very high level of autarky
should result in relatively large initial gainsin output.



Figure 1
Changesin the value of capita as function of sovereignty
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The negative sign of (6) implies a concave transformation curve of sovereignty into income (curve
B,B, curve in Figure 2) and thus decreasing returns to openness. As the country moves away from
the point autarky B, in Figure 2, where y=0 can be thought of as the subsistence income, marginal
income gains due to integration into the world will, a first, be very high. The marginal gains will
gradually decrease as the country selects lower Ss.



Figure 2
Income and sovereignty: trade-off and indifference curves
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We have derived the trade-off curve on the assumption that is D is given. Consider now
how the trade-off curve will be affected by an increasein D. The equation (4) becomes

y-f[k(y"(s),D)]=0

where bars over s and k denote that they are given. Since k,>0 and f, >0, an increase in D
will increaseyy, i.e. expand the trade-off curve outwards for agiven s. This meansthat, for agivens,
a country with a larger domestic market (e.g. the US) will be able to achieve a higher level of
income per capita than a country with a smaller domestic market (e.g. Canada). The outward shift is
not uniform though. Since k,>0 (in virtue of k,,<0; see footnote 10) the curve expands more for
higher values of s. the trade-off curve shiftsfrom BB, to B,B, asin Figure 3. This meansthat at low
levels of openness the domestic market is more important than when opennessiis high. A relatively
autarkic large economy will be better off that an equally autarkic small economy. This is why
socialism in one country made some sense for the Soviet Union, but not for Albania. In the other



polar case, of full integration in the world system, there is no reason to expect that per capita
incomes of alarger and asmaller country will be different (given the same endowments). Thus both
curves will intersect the vertical axisat B, (see Figure 3).

Now, this type of outward shift implies that the dope of the trade-off curve for a given y/s
ratio is less for a larger country (compare the sopes a and b at y*/s*). In other words, margina
income gains from integration (or margina income losses from greater sovereignty) will be smaller
for alarger country.

Figure 3
Trade-off curvesfor large and small countries
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Finally, consider changing endowments per person (while keeping D and s constant). From
equation (4), it directly follows that an increase in k will raise income per person, and the curve will
expand outwardly (see Figure 4). But again the expansion of the trade-off curve will not be
uniform. As openness increases, the margina product of capital not only rises,” but rises faster.
This can be explained by the complementarity that exists between integration and endowments (in

B\We saw this before: f,<O0.



particular, between the integration, and technica progress and human capital which form the key
components of k). For example, if a country has abundant natural resources or educated labor, it
will be better-off than a country without natural resources or with low education level, even if both
choose full sovereignty. But the difference in income will increase as they integrate into the world
economy: a country with good endowments will gain much more from integration than a country
with poor endowments. Thus, B,-B, will be less than B,-B, (see Figure 4).

The implication of the uneven expansion of the curve is that the slope of the endowment-
rich country’s trade-off curve will be, for agiven y/sratio, greater than the dope of the endowment-
poor country. This means that the margina income gains of integration (or the marginal costs of
sovereignty) are greater for a country with greater endowments.

Figure 4
Trade-off curve as endowmentsincrease
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We have thus completed the derivation of the trade-off curve between sovereignty and
income. It shows the combinations of s and y that are available to a country given its domestic

“The oil-rich Irag may be worse-off under compulsory autarky than Serbia, but, once sanctions are lifted,
its gain from integration will be much greater.



market size and endowments. But the issue is. What point on this curve will a country choose? We
move to the political process that guides this choice, i.e. to the derivation of the indifference curves
in the sy space.

ing theindiff

Both sovereignty and income can be thought of "goods’, in the sense that citizens and
politicians desire both of more. That sovereignty and income are both "goods' can be justified in
two ways, depending on whether we take the perspective of politicians or of a representative
citizen. From the point of view of economic decision-makers or politicians, sovereignty is a "good"
because it gives them greater freedom of decison-making, that is greater influence and power. It
gives policy-makers scope for self-aggrandizement as well as for rent-seeking and bribery.”
Increased GDP per capita is an objective for policy-makers only in so far as it enhances their
chancesto remain in power. Thisistrue for both democratic or non-democratic regimes. Now, from
an ordinary individua’s point of view, the judtification is different. That his welfare would be
greater if average income per capita is higher, is plausible. But the question can be asked: Why
would an individual’s utility depend on his’her country’s economic sovereignty? Sovereignty may
be regarded as a "good" by the population because of the value attached to national pride.”
However, as before, we can expect that the politicians preference for sovereignty will be greater (at
agiven level of income) than the population’s.

®This, | think, is true regardless of how corrupt or "honest" civil servants are. Surely, incorruptible civil
servants will not accept direct bribes. But the absence of externally binding rules will give them greater
power than they would have otherwise. For example, if tariff rates are not set through some international
agreement, different interest groups will vie with each other over them, as they did ferociously during the
inter-War years in Europe and the US. This will, by definition, increase the power of policy makers—even
if we assume that they thereby gain nothing in terms of income (i.e. corruption is excluded). Setting external
rulesis a way to limit the power of bureaucracy: witness the balanced budget amendment in the US, and
monetarists insistence on monetary policy rules.

'°A friend once told me what a great boost to national pride of the Chinese was the nationalization
effected by the Communists in 1949. Many people indeed gained as foreign technicians departed and the
Chinese took their positions. But even those who did not gain directly, felt proud that the Chinese were able
to run the factories as well as foreigners—after a long period of national feeling of inferiority. A similar
feeling was present in other countries: Egypt and India in the 1950's, Cuba in the 1960's etc. In a poll, a
week before the referendum on independence in Quebec, 77 percent of pro-independence respondents said
that "'pride in being a Quebecker' influenced their decision” (The Financial Times, October 23, 1995, p. 5).



People’'s welfare is greater if their country is more sovereign (for a given level of income),
and they have a greater income (for a given level of sovereignty). Also, the less the population has
of either sovereignty (s) or income (y), the more will it value it a the margin. Thus we get a
standard indifference curve (curve AA in Figure 2) showing different combinations of sovereignty
and income which yield an equal welfare.

However, the rates of substitution between income and sovereignty for policy-makers and
the population, as the above discussion makes clear, differ. Since the likelihood to benefit from
sovereignty is greater for the people who hold power than for those who have none, we posit that, at
every y/sratio dong the indifference curve AA, the rate of substitution of income for sovereignty is
greater (the curve is steeper) the higher the level of political power one has. For those with no
political power and presumably with nothing to gain from greater sovereignty, the AA curve would
become a straight line: only per capita income matters.” For the top level politicians, average per
capita welfare of the population is a constraint that they cannot ignore if they want to stay in power,
but the real objective is maximization of their own power and welfare which goes hand in hand
with increased economic sovereignty, that is economic policy autonomy.

Now, if we rank al individuals according to their political importance, in the same way that
we rank them according to income in income distribution curves, and let them vote on sovereignty,
the more concentrated the political power, the more to the left will be the median voter,” and the
flatter the selected indifference curve.” But, in authoritarian and dictatorial regimes, those will low
political power will, by definition, be excluded from "voting." Thus, despite the skewness of
political power, the selected indifference curve will be— because of the truncation of the voting
population— relatively steep. That is, the median "voter" in authoritarian regimes will want a
relatively high sovereignty compared with democracies. We would therefore expect that

"Obviously, under the assumption that the individual sharesin that higher average per capitaincome.

®Since preference for sovereignty increases uniformly with the level of power, the preferences are
single-peaked, and the median voter determines the outcome; or said differently, individua preferences for
sovereignty can be ranked by their political power.

®Obviously, the mechanism is similar to the choice of lower tax rate in more income unequal distribution
with full franchise (see, among others, Alesinaand Rodrik 1991, Persson and Tabellini 1994, Perotti 1992).



authoritarianism and sovereignty will be positively related.”

Full-franchise democratic regimes will display flatter indifference curve, which with agiven
trade-off curve, implies that they would choose a higher equilibrium y/s ratio. However, the
distribution of political power among the full-franchise regimes is not aways the same. We can
expect that in regimes where more political power belongs to different pressure groups that vie for
various policies, and where more people are involved in the political process” (i.e. where the
representative rather than direct democracy provides a better approximation of the actual political
process), the median voter’s indifference curve would be steeper: he/she has more to gain from
sovereignty than an ordinary voter with no political power. We can conclude that —with a given
trade-off curve— the highest y/s will be selected by full-franchise democratic regimes with little
lobbying or corporatist elements; as power of different organized groups increases, the optimal y/s
ratio will decrease. Finaly, authoritarian regimes or dictatorships will select an even lower y/sratio.

Formaizing the discussion so far, we can write:
*At agiven point in time, a country does a constrained maximization

ma;< U(y,s)+ A[y- f(sk,D)]

where U=U(y,s) is a welfare function, y=f(s,,) depicts the trade-off curve with given k and
D, and A gives the marginal welfare gain from the relaxation of the constraint (via growth of the
domestic market, or viatechnological progress which increasesk).

*Thus Stalin, Hitler or Mao could afford to select high s, but not so Mitterrand or Mgjor.

?!| assume that for a person to become involved in the political process, hefshe must become amember of
an organized group.



At the equilibrium, the relation (7) will hold:
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S U, (7)
I.e. the dope of the trade-off curve will be equal to the marginal rate of substitution between

sovereignty and income (and U=3U/dsand U =3U/dy).

*Assuming that preferences are homothetic and taking k as given, a larger country's
equilibrium will obtain for a lower y/s ratio (see Figure 3). A larger country's equilibrium will
always take place at a greater s, but not necessarily lower y because its trade-off curve expands
outwards (compare points L for alarge, and S for a small country in Figure 3). In other words, a
larger country can achieve a higher income and grester sovereignty.

*Ask increases (with agiven D) and preferences are homothetic, the equilibrium takes place
for a higher y/s ratio (compare points E, and E, in Figure 4). While income must necessarily be
greater in the new equilibrium, sovereignty may go either way, depending on how the trade-off
curve expands.

The discussion so far can be encapsulated in the four following propositions.

oposition 1: Negatively doped and conc 1 hetween income
With technological and capital endowments, and the size of the domestic market given, sovereignty
and per capita income are negatively related. A country will experience diminishing income gains
from integration (or increasing income costs of sovereignty).

Proposition 2: The size-effect. Larger countries (=larger domestic market) can reach a

higher per capita income for a given level of sovereignty and endowment (outward shift of the
trade-off curve). Their margina income gains from integration will be smaller (less steep trade-off
curve). If preferences are homothetic, larger countries equilibrium must obtain for a higher level of
sovereignty.

Proposition 3: Increasing interdependency. As endowments increase, marginal income gains

from integration increase. In other words, costs of sovereignty become greater as countries develop



technologically. Countries with a higher k will select, holding everything else the same, higher y/s
ratios.

Proposition 4: Demaocracy and sovereignty. More democratic countries will tend to choose

lower levels of sovereignty because the population generally values sovereignty less than policy-
makers. Conversely, if politicians are more autonomous, they would be able to choose (impose?)
higher sovereignty.

In order to test empirically the relationship, we can write the ratio between the equilibrium
sovereignty (s) and equilibrium income (y) as a decreasing function of endowments (k) and
democracy (DEM) and an increasing function of country’s domestic market (D). D and k determine
the place and the shape of the trade-off curve; DEM, the shape of the indifference curve.

*

S
—=B,*+ B:k+ B, D+ B; DEM (8)
y*

where B,<0, B,>0 and B,<0. We directly estimate relation (8) on the 1993-94 cross-section
of 165 countries which is practically al the countries in the world except those that were affected
by civil wars and were not functioning as "norma" states (al the republics of the former
Yugoslavia, Lebanon, Burundi, Afghanistan, Liberia, and Somalia). The variables (whose
unweighted means, medians, and standard deviations are shown in Table 1) are defined as follows.”
y is GDP per capita in 1990 international prices (the latest year for which the Internationd
comparison project data are available). k is the World Bank estimate of countries’ per capita wealth
in 1990 USS$, taking into account the value of human capital, produced assets, and natural capital.
This is the first ever estimate of this kind. It attempts to take into accounts al forms of produced
and non-produced wedlth.” To give the reader an idea of the range of estimates, the unweighted
mean per capita stock of wedth is estimated at $86,000 and is composed of 64 percent of human
capital, 16 percent of produced capital and 20 percent of natura capital.” The richest (per capita)

Al data are available from the author on request.
*The results are reported in Serageldin (1995, Annex 1).

*The mean per capitawealth in our sampleis somewhat higher: $ 103,000.



countries are Australia and Canada with respectively $835,000 and $704,000; the poorest Ethiopia
and Nepa with respectively $1400 and $1600. DEM is an estimate of political freedom as
caculated by Freedom House.” Its values range from 1 (fully observed political rights) to 7 (entire
absence of politica rights). Domestic market, D, is obtained as total GDP expressed in 1990
international prices minus net exports of merchandise and non-factor services.”

Sovereignty (9) is, of course, the most difficult variable to measure. | measure it as its
reverse: the extent to which domestic economic policy is constrained due to membership in various
internationa organizations and arrangements. The memberships are mostly memberships in trade
organizations and pacts (e.g. WTO, Mercosur, CEFTA); agreements are to follow exchange rate
rules: to maintain a convertible currency, or to peg it to aforeign currency etc.

If constraints stemming from membership in an international organization or arrangement
cover a wide array of policies or are very binding on a key economic variable like the exchange
rate, the membership constraint is assigned the value of 3. The only such organization is the
European Union; the only foreign exchange arrangements are memberships in the CFA zone and
Eastern Caribbean central bank. In the two latter cases, a country does not have an independent
monetary policy because it lacks national currency.” If constraints are less binding or affect asingle
area like trade but no other areas, the membership is assigned the value of 2. Examples are
membership in WTO or Mercosur, or maintenance of a pegged or currency board exchange rate
system. Findly, being part of an organization that either has little "bite" over members economic
policies, or deals with very limited economic issues results in constraints being valued at 1.
Examples include ASEAN membership or Gulf cooperation council. Of course, membership of
most international organizations places hardly any real constraint on economic policy-making: viz.
the UN, ILO etc. Membership in these organization therefore does not matter for economic
sovereignty.

®Reported in Freedom House (1994).

*The sources for exports and imports is mostly IMF's International Financial Satistics, Annual issue for
1994 and 1995; also World Bank Atlas 1994, 1995, 1996; World Bank's Global Economic Prospects and
Developing Countries 1996; World Bank’s World Development Report 1995 and 1996; World Bank's
Satistical Handbook of the Former Soviet Union for 1994.

?"Panama which uses the US dollar belongs to the same group.



Following the just explained procedure, the estimate of how binding the membership of
each organization/arrangement is for its members was made by three international trade and
exchange experts, and the estimates were rounded off to the nearest integer. The sum of the
membership constraints (denoted m) is then assigned to each country in the sample. For example,
the Netherlands level of congtraint is a high 9 while that of Cuba is 0. The average level of
weighted constraint is almost 4, and the standard deviation 2.3 (see Table 1). The full list of
international organizations considered, and the estimates of how "tight" are their membership
requirementsis given in Annex 3.

Table1l. Summary statistics

Size of domestic | Weadlth per capita | Political Congtraint to
mearket (D) (K repression economic policy
($b at 1990 ($'000) (reverse of DEM) | making (m=
international reverse of 9)
prices)

Mean/median 152.2/175 103/33 36/3 3.88/4

Standard deviation | 518.5 158 22 23

Simple correlation coefficients &

mly -0.07 0.32 -0.26

Domestic market 0.30 -0.04

(D)

Wedlth (K) -0.46

a'y, D, and k are expressed in natural logs.

The bottom of Table 1 shows the ssimple correlation coefficients between the variables. First
note that the correlation coefficients between the dependent variable (membership constraints over
real per capita income; my) and the RHS variables have the expected signs: mly is (mildly)
negatively correlated with the size of domestic market, negatively with political repression, and
positively with wealth. As discussed earlier, this implies that countries with larger markets and
absence of political liberties will —controlled for other factors— choose a higher sovereignty to
income ratio; countries with larger wealth will, under ceteris paribus condition, choose a lower
sovereignty to income ratio. The ssimple correlation coefficients between the independent variables
are relatively weak, with the exception of negative correlation between per capita wealth and
political repression.



The results of estimation of (8) are shown in Table 2. The dependent variable is constraints
to economic policy-making over income per capita™ | experiment with two formulations of the
membership constraint. The first, given in equation 1 (Table 2), is a weighted constraint where the
weight attached to each organization range from 3 to 1 as explained above. The second, in equation
2, is the unweighted sum of memberships (1=member, O=not) in the selected organizations that do
have some binding power (like the first definition it excludes organizations that have none). The
coefficients in equation 1 have the predicted signs. However, lack of political freedom is not
statistically significant; size of the domestic market is significant at 5 percent, and only wealth is
dgnificant at 1 percent level. The interpretation of the coefficientsis asfollows: doubling of e.g. per
capita wealth increases the ratio between the weighted membership and (natural log of) per capita
income by 0.056. More concretely, if a relatively poor country with a per capita income of $3000
(at international prices) and binding constraints of 3, suddenly discovers oil and doubles its per
capita wedlth, its desired level of international integration (=constraint) will rise to 3.45 without any
change in its per capitaincome or political system.” Now, since the ratio m/y will have to increase
by the same amount for a given increase in wedlth, it implies that counties with a higher initial per
capita income will react by raising their level of m by more than the poorer countries. In other
words, a given percentage windfall increase in wedth will lead to a greater loss of sovereignty for
the Netherlands than for Zambia.

The R® is 0.15—not a bad result given that we are estimating an equilibrium ratio between
the cross-sectiona variables. The equation is run with heteroskedasticity-corrected standard errors,
and no autocorrelation between the countries, arranged in decreasing order according to their GDP
per capita at 1990 international prices, is detected (results of the autocorrelation tests are thus not
reported). Recursive regressions run for N=18 onwards show that the coefficients are reasonably
stable (see Figure 5), in particular C(4) and C(3), the coefficients associated respectively with lack
of freedom and wealth.

Regression 2 has a ssimple sum of binding memberships on the LHS (divided by per capita
income, of course). Now, wedth and lack of political freedom, with the expected sign of the

®Note that since m is the reverse of s, the expected signs of the coefficients will be the reverse of the
signsin equation (8) with the exception of DEM that is now also measured asits reverse.

*The initial m/In y value was 0.3747. The desired value, after doubling of wedlth, will be
0.3747+0.056=0.4307. Thisimplies m=3.45 (sincey is unchanged).



coefficients, become much stronger determinants of the m/y ratio; the size of the domestic market

becomes statistically insignificant. R* more than doubles.

Table 2. Estimation results

Dependent variable:
ratio of binding member ship in international organizationsto GDP per capita

Regression Constant Size of Political repression Wedlth per R?
domestic capita (SB)
market

1 0.035 -0.020 -0.015 0.053 0.15

(0.202) (-2.03) (1.40) (3.62) (0.25)

2 -0.161 0.004 -0.018 0.048 0.36

(-1.78) (0.80) (-3.20) (5.93) (0.149)

Note: OLS regression with White's heteroskedasticity correction. t-valuesin parentheses. y, D, and k in natura logs. Cross
section of 165 countries; years 1993-94.

3. Forming conglomerates

Let us introduce now a "conglomerate’. A conglomerate is defined to be a large entity
composed of a number of semi-independent members. The conglomerate can be a single country,
like the former Soviet Union, or the US, Canada, China or Spain, where well-defined regional
entities (republics, provinces, states) have some legidative or executive power; or it can be an
association of formally independent states like the European Union or the German Confederation
(Deutscher Bund from 1815 until 1866). The conglomerate will act as a single entity when it deals
with foreign states or other conglomerates. That means that it must at least be a customs union. A
conglomerate will normally be also a free trade and a single currency area. The decision-making in
the conglomerate can cover the span of a virtual veto power held by each member (e.g. the US
under the Articles of Confederation, United Provinces of the Netherlands, German Confederation,
Yugoslavia, the European Union until the mid-1980's), to different qualified mgorities as in the
United States” or weighted voting as currently in the European Union™, to unqualified majority, or

®Three-quarters of all states and two-thirds of the Senate must agree if the constitution is to be amended.
Half of the senatorswill have to agreeto passalaw.

#iCountries voting rights range from 10 for large countries to 2 for Luxembourg. Qualified majority is



some other formula which, of course, need not be formally specified. The Soviet Union, and the
Soviet Union and the Eastern Europe that was within the CMEA, where many economic decisions
had to be reached through some formal or informal consensus among the republican Communist
party elites, are examples of the non-formalized power-sharing. The conglomerate becomes an
empire when a single member of the conglomerate preponderantly determines the decisions of the
conglomerate. Empires are discussed in the Annex 1.”

Two additiona things define a conglomerate. Both are supposed to reduce the differences
between the members. The first is the reduction in the difference in power between the members.
More powerful members (measured by the size of their GDP) may have a somewhat greater power
in the decision-making. However, al kinds of checks are placed that limit this power, and make it
less than, if instead of a conglomerate, we dedlt with a collection of independent states. In other
words, a decision to enter into a conglomerate implies that a redistribution of sovereignty in favor
of smaller members. This is present, for example, in the European Union where the system of
weighted voting is such that the more powerful members of the conglomerate are pendized.” The
U.S. Senate was "invented" (since it was indeed a novelty at the time) to give equal representation
to each state and prevent the feared domination of Virginia This was aso the case in the
Communist conglomerates where the party elites in lesser members states had as much or only

about 71 percent of the voting rights. In addition, for some decisions, 10 out of 15 states must agree. Finaly,
for some decisions, unanimity is required. See Hodli (1990). Disputes over the qualified majority voting are
currently pitting UK against Germany.

¥0Once a conglomerate does not imply a conglomerate forever. It can become an empire, or a nation-
state. For example, the German Confederation and later the Prussialed Northern German Confederation
clearly fitted the description of a conglomerate. The creation of the Second Reich in 1870 could be viewed
as a formalization of the conglomerate wherein Prussia was the core member. And, indeed, like Russia and
Germany within respectively the Soviet Union and the European Union, Prussia was not the richest (per
capita) member of the conglomerate (Bremen, Hanover and Oldenburg were richer). However, by now, the
process of unification has probably gone far enough that it would be incorrect to describe the present-day
Germany as a conglomerate despite its federal structure. It would be much more accurate to describe it as a
nation-state.

®ror example, Germany holds 11 percent of the vote, although its population is 22 percent, and its GDP
26 percent of European Union’s; Luxembourg holds 2 percent of the vote even if its population is less than
1/10 of a percent. The dadticity of power, measured by the Shapley-Shubik index, with respect to
population was 0.47 for the EU of 12 members (before the latest enlargement). The elasticity was expected
to decrease to under 0.4 after the enlargement (see Widgren, 1994). In a different paper (Widgren, 1994a)
Widgren argues that the smaller countries have an even greater relative impact on policy making than
implied by their voting rights.



dightly less power than the party elites of larger republics. After 1968, the power in Czechodovakia
was shared very equaly between the Slovak and the Czech parts, although the latter had a
population and income twice as large as Slovakia. Former Yugodavia had a quota system for
federal positions where each republic, regardiess of its population, had an equal number of the
nomenklatura sots.

The outcome of this process is that sovereignty of various membersis "averaged out." The
more powerful members dissipate some of their sovereignty in favor of the less powerful.*

The second thing that conglomerates try to equalize is the economic position of its
members.” Conglomerates tend to have income-equalizing policies that transfer income from richer
to poorer members. Again this is what we observe in numerous instances. The European Union
transfers large amounts of resources to the poorer members. The Soviet Union and Y ugodavia had
smilar policies. Italy which, in some aspects, particularly now with the growth of the Lega Norde,
resembles a conglomerate, has the same policy of transfers to the South. In the U.S.,, the explicit
policy does not exist, but smilar considerations are taken into account through the bargaining for
federal funds.

Let us now look at the conglomerate’s equilibrium. Suppose that a conglomerate consists of
alarge core country with alevel of income approximately the same as that of the conglomerate as a
whole (so that the core country does not subsidize poorer members), and of one small rich, and one
small poor members.” This parallels the situation in the Soviet Union, Y ugoslavia, or the European
Union, where the small rich member can be thought of as respectively Estonia, Slovenia or
Luxembourg; a small poor member as Kyrgyzstan, Macedonia and Greece, while the core member
has an income close to the group average (Russia, Serbia and Germany).

#One possible reason why they might do so is suggested by Hirschleifer's (1991) “paradox of power".
The weaker side (a state, in this case) receives a higher pay-off from engaging in conflictual or redistributive
activity compared to the productive activity than the stronger side. The weaker side will therefore fight
harder and more frequently than the richer side—unless the importance of the conflict is sufficiently high
for the stronger side to shift the use of its resources towards conflict. If this happens, however, the basic
cooperation on which a conglomerate is built is done away with and the conglomerate is doomed. But, in
"normal life" of conglomerates, the weak will fight harder.

*Now it could well be that the two redistributions: of sovereignty and income must necessarily go
together because income redistribution is not feasible without redistribution of political power.

%The small rich member has greater k than the small poor member.



The trade-off curves and the equilibrium positions of the members before they join the
conglomerate are shown (by broken lines) in Figure 6. The equilibriaobtain a points R (for rich), P
(for poor) and C (for core) member. Note how the trade-off curves are drawn: the rich member has
a high k reflected in the fact that for s=0, it can reach the highest income.” However, because its
domestic market is small, the trade-off curve drops down more quickly than the trade-off curve of
the core member.

The trade-off curve for the conglomerate as a whole is obtained as a weighted sum of the
individua trade-off curves, where, for smplicity, we suppose that the total GDP of the core
member is twice as large as the GDPs of the smaller members.™ In addition, the trade-off curve
expands because of the increased size of the "domestic" market (free trade area), and becomes
flatter (see Proposition 2).* This expansion, which | will call "income gain from amalgamation”,
can be seen by comparing the two solid lines in Figure 6. The curve BB, is a smple summation of
the members' trade-off curves. The curve BB, is the expanded curve where, in accordance with the
discussion in Section Il, the expansion is greater for higher levels of s. The conglomerate’s
equilibrium obtains a K. Assuming for the moment that members fully share both income and
sovereignty, each member’s equilibrium will be at K.

Consider first what happens to sovereignty in the new equilibrium. If sovereignty of all
members is the same (s, in Figure 6), smaller members will have gained in sovereignty and the core
member lost.”” However, while sovereignty must be somewhat evened out, it need not be entirely

¥"The opposite holds for the small poor member.
*That assumes that the small rich member must have lower population that the small poor member.

¥As anoted analyst of European integration (Jacquemin, 1995, p.6) observed: "The establishment of the
European community and its implementation of common policies are apartial response to [danger of lack of
cooperation between the states]: competition can be preserved while at the same time economies of scale are
possible and external benefits can be internalized. An illustration of the impact of the Union as a European
regional grouping and of the resultant pooling of sovereignty is that the protectionist instruments of national
trade policies have been replaced by shared competition rules." Another gain of amalgamation emphasized
by Alesina, Perotti and Spolaore (1995) is lower per capita cost of providing public services and lower cost
of insurance against unforeseeabl e income declines.

““The exact equilibrium will depend on the slopes of the members’ trade-off curves. If rich member’s
dope is very steep (as shown in Figure 5), the BoBo curve may drop quickly. But then if the gain from
amalgamation is large, the BoB; can substantially expand outward.



equalized. It could well be that within the conglomerate there is some further redistribution of
power that leaves the larger member with sovereignty s, whereas smaller members sovereignty is
less. One can think of this in the following terms. While for all members of the conglomerate
international agreements that limit sovereignty to the point s, are binding, the conglomerate might
impose additional constraints on some of its members. For instance, the conglomerate might accept
some international labor legidation rules, but opt out of compulsory minimum wage legidation.
Yet some members of the conglomerate might have a binding minimum wage legidation. In
conclusion, no member of the conglomerate may have sovereignty greater than s;, but some might
have s<s,. Larger members of the conglomerate, like Russiain the case of the USSR, might strongly
influence economic policy of other members and reduce their s. Examples include the creation of
the virtual mono-cultural economies like Uzbekistan (cotton), or "assignment” of computer-
development specidization to Bulgaria within the CMEA zone." In the extreme case, when a
conglomerate "degenerates' into empire, only the core member will have sovereignty s, while dl
others sovereignty will be closeto O (see Annex 1).

*'Romania under Ceausescu selected a very high degree of sovereignty to the detriment of per capita
income (going as far as letting the U.S. most-favored nation status be revoked), and refused to accept the
"assignment" of food and energy producer within the CMEA. It might, however, become just that within the
European Union.



Figure 6
Equilibriaof individua members and the conglomerate

sl sovereignty

As for conglomerate’s equilibrium income, it will aso lie somewhere between the
equilibrium incomes of the individual members when they were independent (see y, Figure 6).”
Because the conglomerate, through redistribution, selects the same income for al its members,
chances are that the rich small member might lose in terms of income while the poor small member
will definitely gain. As mentioned above, the assumption of the same income for al membersis
made only for the sake of convenience. Incomes will not be equalized in red life. The point,
however, is that there would be some redistribution from the richer to the poorer members. In
theory, even the rich member might gain in terms of income, if the outward shift of the curve more

*The conglomerate’s equilibrium income may, theoretically, be higher than the initia equilibrium
income of each member if the trade-off curve, thanks to the gains from amalgamation, expands alot.



than offsets the redistribution, or, aternatively, if redistribution is relatively small (i.e. incomes
between the members are not fully equalized).

What is then the outcome for the individua members? Sovereignty will expand for the
smaller (both rich and poor) members who, on account of their small size, had low sovereignty
before they joined the conglomerate. Income will increase for the poor small member who benefits
both from larger market and redistribution; it might go either way for the core member; and will
most likely decrease for the rich small member.

Why would then states decide to join (or to stay) in a conglomerate? The answer for a small
poor member is obvious: it gains on both fronts, income and sovereignty.”

The core member’s position is unclear because the new equilibrium might in terms of both
income and sovereignty go either way. However, to offset possible losses, the core member might
"collect" some "psychic or politica" income since it is the leader of a collection of states. This can
be caled "the core member effect”.” Core member's international importance increases. For
example, if the West is viewed as a conglomerate, then the US can be considered the core member.
Clearly, the US has, since 1941, collected some "psychic" income from being "the leader of the free
world" and was willing to sacrifice pure economic gains to achieve this status (by, inter alia,
providing an almost free defense umbrellafor Western Europe and Japan).

The real difficult choice belongs to the small rich member. It would stay in the
conglomerate only if the gain in sovereignty more than offsets an amost certain decline in income.
The rich member is, therefore, the least stable member of the conglomerate. It will have a strong
incentive to limit redistribution.” Other members will then have an incentive to accede to its

*\aubel (1994) finds that the popularity of European integration (the share of the country’s population
that favors tighter integration) rises with country’s received net per capita transfers and declines with the
increase in its GDP per capita. Both variables are highly significant. "Popularity of the union” is measured
a discrete time intervals covering the period between 1962 and 1992.

*“Vaubel (1994, p.1777) finds that larger countries, measured by the population, tend to be more in favor
of European integration and centralization.

*Tullock (1993, p.21) makes the same point with respect to nation-state that | make with respect to the
conglomerate: "You might say that the definition of the nation-state is the area within which there is
redistribution. And the strongest argument [from the US perspective] | know for not having a world



demand if they wish to preserve the conglomerate intact. They might prefer to limit redistribution to
the point where the rich member's income remains sufficiently large to